

City of Kettering Bid Tabulations 01-108I-Resurface Facility Parking Lots

Description: CIP# 5218-77750- 06-100Y \$50,000 & 01-108i \$170,000; 6119-77750- 06-100Y \$80,000; 6618-77750- 01-150 \$200,000

The Project will include 1.5" mill and overlay of three facility parking lots along with concrete repairs as needed.

01-108I - Government Center Parking Lot

01-150 - Public Service Department, Service Yard

06-100Y - Kettering Recreation Center, North Parking Lot

				Engineer's	Estimate	(1) Roberts Paving Inc		(2) Vandalia Blacktop	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
Section 1: Def	ault Section								
0010 CONCRETE C	202-2000 URB REMOVED	FOOT	2,848.00	\$8.000	\$22,784.00	\$2.900	\$8,259.20	\$11.000	\$31,328.00
0020 CONCRETE FI	202-3024 ATWORK REMO	SF OVED (12" & U	4,078.00 NDER)	\$2.000	\$8,156.00	\$4.100	\$16,719.80	\$2.750	\$11,214.50
0030 PAVEMENT PI	254-1300 ANING, 1.5"	SY	38,306.00	\$2.250	\$86,188.50	\$1.450	\$55,543.70	\$1.960	\$75,079.76
0040 NON-TRACKIN	407-2000 NG TACK COAT	GAL	4,022.00	\$2.000	\$8,044.00	\$12.000	\$48,264.00	\$5.140	\$20,673.08
0050 ASPHALT CON	441-1100 ICRETE SURFAC	TON E COURSE, T	3,352.00 YPE 1 (448), PG64-22 (1	\$72.000 .5")	\$241,344.00	\$69.000	\$231,288.00	\$66.700	\$223,578.40
0060 8" CONCRETE	452-1100 PAVEMENT	SF	145.00	\$7.000	\$1,015.00	\$8.250	\$1,196.25	\$7.700	\$1,116.50
0070 4" CONCRETE	608A-1051 SIDEWALK, INC	SF CLUDING RES	2,184.00 FORATION, AS PER PLA	\$5.500 AN	\$12,012.00	\$7.000	\$15,288.00	\$5.500	\$12,012.00
		C E :1:: E			1 60				02/00/20

				Engineer's	Estimate	(1) Roberts	Paving Inc	(2) Vandalia	a Blacktop
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0080 6" CONCRETE	608A-3051 CURB RAMP,	SF INCLUDING RES	1,749.00 TORATION, AS PER I	\$7.000 PLAN	\$12,243.00	\$8.000	\$13,992.00	\$6.600	\$11,543.40
0090 DETECTABLE	608A-3083 WARNING, AS	SF PER PLAN	252.00	\$40.000	\$10,080.00	\$30.000	\$7,560.00	\$17.600	\$4,435.20
0100 RETROFIT DE	608A-3085 ΓECTABLE WA	SF RNING, AS PER	70.00 PLAN	\$25.000	\$1,750.00	\$55.000	\$3,850.00	\$35.200	\$2,464.00
0110 ODOT TYPE 6	609-1351 CONCRETE BA	FOOT ARRIER CURB, IN	2,848.00 ICLUDING RESTORA	\$24.000 TION, AS PER P	\$68,352.00 LAN	\$18.200	\$51,833.60	\$35.200	\$100,249.60
0120 LOW STRENG	613-1000 ГН MORTAR В	CY ACKFILL, LSM 1	50.00 00	\$100.000	\$5,000.00	\$110.000	\$5,500.00	\$145.000	\$7,250.00
0130 MAINTAINING	614-1001 TRAFFIC, AS	LS PER PLAN	1.00	\$5,427.000	\$5,427.00	\$500.000	\$500.00	\$4,500.000	\$4,500.00
0140 LANE LINE, 4	644-1210 , PARKING ST	FOOT ALL	10,288.00	\$1.500	\$15,432.00	\$1.620	\$16,666.56	\$1.810	\$18,621.28
0150 TRANSVERSE	644-2410 LINE, 6"	FOOT	495.00	\$2.000	\$990.00	\$2.500	\$1,237.50	\$2.420	\$1,197.90
0160 HANDICAP SY	644-4200 MBOL	EACH	16.00	\$150.000	\$2,400.00	\$90.000	\$1,440.00	\$78.750	\$1,260.00
0170 SPECIAL- CON	690-2000 ICRETE PARKI	EACH ING BLOCK INST	8.00 ALLED	\$85.000	\$680.00	\$75.000	\$600.00	\$85.000	\$680.00
(17 Items)			Totals:		\$501,897.50		\$479,738.61		\$527,203.62

				(3) Barrett Pavi Inc	_	(4) Brown Co	onstruction	(5) John R. Ju	rgenson Co.
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
Section 1: Def	ault Section								
0010 CONCRETE C	202-2000 URB REMOVED	FOOT	2,848.00	\$8.000	\$22,784.00	\$10.000	\$28,480.00	\$11.000	\$31,328.00
0020 CONCRETE FI	202-3024 LATWORK REMO	SF OVED (12" & UN	4,078.00 (DER)	\$2.000	\$8,156.00	\$2.000	\$8,156.00	\$4.000	\$16,312.00
0030 PAVEMENT PI	254-1300 LANING, 1.5"	SY	38,306.00	\$2.400	\$91,934.40	\$2.000	\$76,612.00	\$2.000	\$76,612.00
0040 Non-trackin	407-2000 NG TACK COAT	GAL	4,022.00	\$3.000	\$12,066.00	\$6.000	\$24,132.00	\$1.000	\$4,022.00
0050 ASPHALT CON	441-1100 NCRETE SURFAC	TON CE COURSE, TY	3,352.00 PE 1 (448), PG64-22 (\$72.000 1.5")	\$241,344.00	\$75.000	\$251,400.00	\$78.000	\$261,456.00
0060 8" CONCRETE	452-1100 E PAVEMENT	SF	145.00	\$7.500	\$1,087.50	\$25.000	\$3,625.00	\$11.000	\$1,595.00
0070 4" CONCRETE	608A-1051 E SIDEWALK, IN	SF CLUDING REST	2,184.00 ORATION, AS PER PL	\$5.250 AN	\$11,466.00	\$5.000	\$10,920.00	\$6.500	\$14,196.00
0080 6" CONCRETE	608A-3051 E CURB RAMP, IN	SF NCLUDING RES	1,749.00 FORATION, AS PER P	\$10.000 LAN	\$17,490.00	\$5.500	\$9,619.50	\$12.000	\$20,988.00
0090 DETECTABLE	608A-3083 WARNING, AS F	SF PER PLAN	252.00	\$25.000	\$6,300.00	\$12.000	\$3,024.00	\$25.000	\$6,300.00
0100 RETROFIT DE	608A-3085 TECTABLE WAR	SF NING, AS PER I	70.00 PLAN	\$40.000	\$2,800.00	\$20.000	\$1,400.00	\$35.000	\$2,450.00
0110 ODOT TYPE 6	609-1351 CONCRETE BAI	FOOT RRIER CURB, IN	2,848.00 CLUDING RESTORA	\$25.000 ΓΙΟΝ, AS PER PL	\$71,200.00 .AN	\$40.000	\$113,920.00	\$26.000	\$74,048.00
0120 LOW STRENG	613-1000 TH MORTAR BA	CY CKFILL, LSM 10	50.00	\$100.000	\$5,000.00	\$82.000	\$4,100.00	\$75.000	\$3,750.00
0130 MAINTAINING	614-1001 G TRAFFIC, AS P	LS ER PLAN	1.00	\$36,000.000	\$36,000.00	\$6,000.000	\$6,000.00	\$38,899.550	\$38,899.55
0140 LANE LINE, 4	644-1210 ", PARKING STA	FOOT LL	10,288.00	\$1.550	\$15,946.40	\$0.420	\$4,320.96	\$1.550	\$15,946.40
0150 TRANSVERSE	644-2410 LINE, 6"	FOOT	495.00	\$2.300	\$1,138.50	\$2.500	\$1,237.50	\$1.550	\$767.25
Bid Tabulations	s: 01-108I-Resur	face Facility Pa	rking Lots	Page	3 of 6				02/08/2018

			((3) Barrett Paving Materials Inc.		(4) Brown Construction		(5) John R. Jurgenson Co.	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0160 HANDICAP SY	644-4200 MBOL	EACH	16.00	\$16.000	\$256.00	\$75.000	\$1,200.00	\$2.300	\$36.80
0170 SPECIAL- CON	690-2000 NCRETE PARKII	EACH NG BLOCK INSTALLED	8.00	\$190.000	\$1,520.00	\$125.000	\$1,000.00	\$100.000	\$800.00
(17 Items)			Totals:		\$546,488.80		\$549,146.96		\$569,507.00

				(6) RB Jergens Con	ntractors, Inc.
Line Number	Item	Unit	Qty	Price	Extension
Section 1: Defa	ult Section				
0010 CONCRETE CU	202-2000 RB REMOVED	FOOT	2,848.00	\$5.500	\$15,664.00
0020 CONCRETE FL	202-3024 ATWORK REMOV	SF ED (12" & UNDER)	4,078.00	\$2.000	\$8,156.00
0030 PAVEMENT PLA	254-1300 ANING, 1.5"	SY	38,306.00	\$2.300	\$88,103.80
0040 NON-TRACKIN	407-2000 G TACK COAT	GAL	4,022.00	\$1.100	\$4,424.20
0050 ASPHALT CONG	441-1100 CRETE SURFACE	TON COURSE, TYPE 1 (4-	3,352.00 48), PG64-22 (1.5")	\$88.900	\$297,992.80
0060 8" CONCRETE	452-1100 PAVEMENT	SF	145.00	\$11.000	\$1,595.00
0070 4" CONCRETE	608A-1051 SIDEWALK, INCI	SF .UDING RESTORATIO	2,184.00 DN, AS PER PLAN	\$7.700	\$16,816.80
0080 6" CONCRETE	608A-3051 CURB RAMP, INC	SF LUDING RESTORAT	1,749.00 ION, AS PER PLAN	\$8.850	\$15,478.65
0090 DETECTABLE V	608A-3083 VARNING, AS PE	SF R PLAN	252.00	\$24.000	\$6,048.00
0100 RETROFIT DET	608A-3085 ECTABLE WARN	SF ING, AS PER PLAN	70.00	\$34.000	\$2,380.00
0110 ODOT TYPE 6 C	609-1351 CONCRETE BARR	FOOT IER CURB, INCLUDI	2,848.00 NG RESTORATION, AS	\$27.000 S PER PLAN	\$76,896.00
0120 LOW STRENGT	613-1000 H MORTAR BACI	CY KFILL, LSM 100	50.00	\$110.000	\$5,500.00
0130 MAINTAINING	614-1001 TRAFFIC, AS PE	LS R PLAN	1.00	\$12,000.000	\$12,000.00
0140 LANE LINE, 4",	644-1210 PARKING STALL	FOOT	10,288.00	\$1.700	\$17,489.60
0150 TRANSVERSE I	644-2410 LINE, 6"	FOOT	495.00	\$2.500	\$1,237.50

				(6) RB Jergens Contractors, Inc			
Line Number	Item	Unit	Qty	Price	Extension		
0160 HANDICAP SYM	644-4200 1BOL	EACH	16.00	\$81.300	\$1,300.80		
0170 SPECIAL- CONC	690-2000 CRETE PARKIN	EACH G BLOCK INSTALLED	8.00	\$145.000	\$1,160.00		
(17 Items)			Totals:		\$572,243.15		